

Description:

PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:07:35 PM

General Details

 Parcel ID:
 275-0010-00330

 Document:
 Torrens - 277629

 Document Date:
 06/11/1998

Legal Description Details

Plat Name: BREVATOR

SectionTownshipRangeLotBlock25017--

NW1/4 OF SW1/4 EX 6.73 AC FOR HWY

Taxpayer Details

Taxpayer Name CLARK CHRISTOPHER A

and Address: 7472 HWY 2

SAGINAW MN 55779

Owner Details

Owner Name CLARK CHRISTOPHER A
Owner Name CLARK MICHELLE LYNN

Payable 2025 Tax Summary

2025 - Net Tax \$1,173.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,258.00

Current Tax Due (as of 12/13/2025)

Due May 15		Due November 15		Total Due		
2025 - 1st Half Tax	\$629.00	2025 - 2nd Half Tax	\$629.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$629.00	2025 - 2nd Half Tax Paid	\$629.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 7472 HWY 2, SAGINAW MN

School District: 2142
Tax Increment District: -

Property/Homesteader: CLARK, CHRISTOPHER A & MICHELLE L

	Assessment Details (2025 Payable 2026)											
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity					
101	1 - Owner Homestead (100.00% total)	\$79,400	\$208,200	\$287,600	\$0	\$0	-					
121	1 - Owner Homestead (100.00% total)	\$10,500	\$0	\$10,500	\$0	\$0	-					
	Total:	\$89,900	\$208,200	\$298,100	\$0	\$0	2164					



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:07:35 PM

Land Details

 Deeded Acres:
 33.27

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

		Imp	rovemen	t 1 Details		
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1950	1,40	08	1,624	U Quality / 0 Ft ²	1S+ - 1+ STORY
Segment	Story	Width	Length	Area	Four	ndation
BAS	1	10	16	160	FOUN	DATION
BAS	1	16	24	384	FOUN	DATION
BAS	1.2	24	36	864	BASE	EMENT
CN	1	6	8	48	FOUN	DATION
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
1.0 BATH	2 BEDROOM	/IS	-		1	C&AIR_COND, PROPANE

	Improvement 2 Details (34X42 PB)											
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
POLE BUILDING		1975	1,42	28	1,428	-	-					
	Segment	Story	Width	Length	Area	Foundat	ion					
	BAS	1	34	42	1,428	FLOATING	SLAB					
	LT	1	11	12	132	FLOATING	SLAB					

			improvem	ent 3 Det	alis (8X12 SHEL))	
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
S	TORAGE BUILDING	1930	96	6	96	=	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	8	12	96	POST ON GF	ROUND

			Improv	ement 4 [Details (BARN)		
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	BARN	1955	2,08	38	3,618	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	18	31	558	FLOATING	SLAB
	BAS	2	34	45	1,530	SHALLOW FOU	INDATION
	LT	1	9	19	171	FLOATING	SLAB

	Improvement 5 Details (ATT TO BN)											
- 1	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
	UTILITY	1975	1,768		1,768	=	-					
	Segment	Story	Width	Length	Area	Foundat	ion					
	BAS	1	34	52	1,768	SHALLOW FOU	INDATION					



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:07:35 PM

		Improveme	nt 6 Deta	ails (WHI	TE SHED)			
Improvement Type	e Year Built	•	or Ft ²		•	Basement Finish	Style Co	ode & Desc.
STORAGE BUILDIN		168	3	168		-	•	_
Segmei	nt Story	Width	Length	. Aı	·ea	Founda	ation	
BAS	1	12	14		68	POST ON (GROUND	
		Improveme	ent 7 Deta	ails (OPF	N BARN)			
Improvement Type	e Year Built	•	or Ft ²	Gross Are	•	Basement Finish	Style Co	ode & Desc.
BARN	1975	2,16	60	2,160)	-		-
Segmei	nt Story	Width	Length	Aı	ea	Founda	ation	
BAS	1	40	54	2,	160	POST ON (GROUND	
		Improveme	ent 8 Det	ails (AT	T. TO BN)			
Improvement Type	e Year Built	Main Flo	or Ft ²	Gross Are	ea Ft ²	Basement Finish	Style Co	ode & Desc.
SLEEPER	1985	308	3	308		-		-
Segmei	nt Story	Width	Length	Αι	ea	Founda	ation	
BAS	1	14	22	3	08	FLOATING	G SLAB	
		Improvem	ent 9 Det	tails (8X1	2 SHED)			
Improvement Type	e Year Built	Main Flo		Gross Are	•	Basement Finish	Style Co	ode & Desc.
STORAGE BUILDIN		96		96		-	·	-
Segmei	nt Story	Width	Width Length		ea	Foundation		
BAS	1	8	12	9	16	POST ON (GROUND	
		Improveme	ent 10 De	tails (8X	12 SHED)			
Improvement Type	e Year Built	•	or Ft ²		•	Basement Finish	Style Co	ode & Desc.
STORAGE BUILDIN		96		96		-	·	-
Segme	nt Story	Width	Length	Aı	ea	Founda	ation	
BAS	1	8	12	9	16	POST ON (GROUND	
	5	Sales Reported	to the St	. Louis C	County Auc	litor		
Sal	le Date	•	Purchase		•		V Number	
06	6/1998	\$90,000 (TI	\$90,000 (This is part of a multi parcel sale.)			122424		
		As	sessmer	nt Histor	у			
	Class					Def	Def	
Year	Code (<mark>Legend</mark>)	Land EMV		dg ∕IV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity
i eai	101	\$79,400	\$202		\$282,200		\$0	Сараспу
0004 Davidkla 0005	121	\$10,500	\$	•	\$10,500	\$0	\$0	_
2024 Payable 2025	Total	\$89,900	\$202		\$292,700		\$0	2,111.00
	101	\$67,800		5,000	\$252,800		\$0	-
2023 Payable 2024	121	\$8,800	\$100	·	\$8,800	\$0	\$0	-
2023 Payable 2024	Total	\$76,600		5,000	\$261,600		\$0	1,945.00
	101	\$58,300),800	\$249,100		\$0	1,040.00
0000 David L 0000	121	\$8,200		0	\$8,200	\$0	\$0	
2022 Payable 2023	Total	\$66,500), 800	\$257,300		\$ 0	1,898.00
						-		1,090.00
	101 121	\$58,300	\$182 \$	•	\$241,000	\$0 \$0	\$0 \$0	-
2021 Payable 2022		\$8,200			\$8,200	-		4 004 00
	Total	\$66,500	\$182	2,700	\$249,200	\$0	\$0	1,821.00



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:07:35 PM

Tax Detail History										
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$1,291.00	\$85.00	\$1,376.00	\$73,086	\$166,664	\$239,750				
2023	\$1,423.00	\$85.00	\$1,508.00	\$63,723	\$171,331	\$235,054				
2022	\$1,607.00	\$85.00	\$1,692.00	\$63,546	\$162,859	\$226,405				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.